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Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Limit pricing is an entry condition in the 5. The Economist who stressed the role of

. Which of the following is not a feature
of monopolistic competition ?

(A) Excess capacity
(B) Advertising costs
(C) Product variation
)

(D) Absence of the supply curve

. Which one of the following is
composed of longevity, literacy and
Income ?

entrepreneur in development was

theory of firm by
(A) J. S. Bain (A) Hirschman (B) Nurkse
(C) Schumpeter (D) Arther Lewis
(B) Curnot
(C) Chamberlin 6. Keynes was most concerned with
(D) W. J. Boumole (A) Stagflation
(B) Cost-push Inflation
. If two goods are bad substitutes, the (C) Structural Inflation
elasticity of substitution is (D) Demand-pull Inflation
(A) Very low " I
. 7. The principle objective of European
(B) Very high Community was the creation of
(C) Infinity (A) WTO
(D) Zero (B) Customs Union

(C) Regional Trade Block
(D) NAFTA

. The ‘Absorption Approach’ analysing

the effects of devaluation has been
developed by

(A) C. P. Kindleberger
(B) B. Soderston

(C) T. M. Rybezynski
(D) Sidney Alexandar

. The relationship among Arithmetic Mean,

Geometric Mean and Harmonic Mean is

(A) HPI
) H! (A) AM = GM = HM
© GeM (B) AM < GM < HM
(C) AM<GM>HM
(D) CHI (D) AM > GM > HM
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10. Fundamental canons of Taxation are

(A) Equity, Efficiency, Certainty and
Stability

(B) Permanency, Equity, Efficiency and
Certainty

(C) Equity, Economy, Certainty and
Convenience

(D) Transferency, Productivity,
Diversity and Convenience

11. Major components of Investment in
human capital are

I) Food and Health

[1) Education and Training

[Il) Banking and Transport

IV) Finance and Insurance
Select the right code from the list given
below :

(A) )y and V) correct

(B) 1) and Il) correct

(C) 1), 1), 1V) correct

(D) 1), 1), 1), IV) correct

12. Assertion (A) : A indifference curve
shows a greater
amount of utility or

satisfaction.

Reason (R) : Each Indifference
curve corresponds to a
particular level of
satisfaction.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) istrue but (R) is false
(D) (A) is false but (R) is true

K-0313
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13. Arrange in order the WTO Ministerial
Conferences.

[) Seattle

Il) Hong Kong
lll) Doha
IV) Cancun
(A) 1), 1), 1v), 1)
(B) 1), 1v), ), 1)
(C) V), 1), 1), 1)
(D) 1My, 1, 1), 1IV)

14. The crucial determinant of the size of the
market is

(A) Savings

(B) Productivity

(C) Monetary expansion

(D) Inducement for investment

15. When the rate of tax goes up with increase
in income is called

(A) Proportional Tax
(B) Regressive Tax
(C) Progressive Tax
(D) Degressive Tax

16. GATs under WTO refers to
(A) Services
(B) Trade and services
(C) Trade and Tariff
(D) Trade in service

17. FRBM is related to
(A) Fiscal Discipline
(B) International Trade
(C) Foreign Business Management
(D) Foreign Exchange
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18. In the initial stages of planned
development starting from its Second
Five Year Plan, the strategy of
development adopted by India was
based on which of the following ?

1) Heavy Industries
2) Export Promotion
3) Light Industries
4) Import Substitution
Choose the correct code.
(A) 1)and 2)
(B) 3) and 4)
(C) 1)and 4)
(D) 2) and 3)

19. Assertion (A) : Buyers and sellers in a
perfectly competitive
market are price
makers.

Reason (R) : Each participant in
perfect competative
market is small in
relation to entire
market.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

20. Shadow prices are particularly useful in
(A) Consumers’ purchase decision
(B) Firms’ sale decision
(C) Project evaluation and appraisal
(D) Savings decisions

K-0313 (7)
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21. |dentify the correct sequence of the
occurrence of four phases of business
cycle.

(A) Recovery, Recession, Expansion,
Depression

(B) Recovery, Expansion, Depression,
Recession

(C) Depression, Expansion,
Recession, Recovery

(D) Recovery, Expansion, Recession,
Depression

22. According to the accelerator principle, the
extent of change in demand for capital
goods depends on

(A) The capital output ratio

(B) Change in the level of output
(C) Investment

(D) All the above

23. India joined World Trade Organisation in

(A) 1990 (B) 1995
(C) 2000 (D) 2005

24. Which among the following is not Indirect
Tax ?
(A) Excise Tax (B) Customs Duty
(C) Gift Tax (D) Sales Tax

25. Zero Budgeting (ZBB) lays emphasis on
[) Unlimited deficit financing

Il) Preparing a new budget right from
start

lI) Preparing the budget neglecting the
history of expenditure

IV) Considering the previous budget
Codes :

(A) I)and ) (B) 1) and )
(C) ) and 1V) (D) I)and V)

Paper Il



26. T3 — | ot B3 — Il 2 ROTROTHTH0E
29 4043 ROCIRT SRRl B0k ARG:

—
I3 —1
w3

a) MRTP

b) FERA

C) s eed

FOWT3
d) =) on

BTN :
a)

(A) 1)
(B) 3)
(©) 2)
(D) 3)

27.

o (R)

BRCT LD ¢

(A) (A) RZy(R) 20=R 33, 2 (R) (A)cd

BT (A)

—
IR ||
w3

1) Ted DARODT

Q0300362

2) gm0 Z90803

Ve

3) e T
BN A0eZed

4) SHFT IIOD

éeo@eéo’sad&q

DD

O

C) d
3)
2)
1)
2)

N
o

w

—

IS -
N N N N

RS éo%ﬁ%b
O3RN
ARBOOZONTOZS.

TR b, Fem© z%%
SR B TNt
#owo@%d% SNTOTT.

ROOINT LW

(B) (A) =3 (R) SRR =S, =BE(R) (A) o

RO0IRE HRCBEDY,
(C) (A) o3 7o, =33 (R) 39
(D) (A)c30 3, &3 (R) =0

Paper lll

Total Number of Pages : 24

28. 2,00 s, WR,OR B FINT SANTZ),
BROVTIZT. LRNY, TRICD FeFFS
SEITRY, ROCIRT LRFETTOT,
TOTOER.

1) 2enS ook

2) AORD =By BoooRERD

3) I

4) 33 Beo B B BTG, A

fes120)

BReTned :

(A) 3) 4) 1) 2)
(B) 4) 1) 3) 2)
(C) 3) 2) 1) 4)
(D) 2) 4) 1) 3)

29. e, TNV FOO30E TEIFIRD
WHNROT)TD Slaplengsialevel I
(A) Do BOT RO TODT,
(B) oo @ oowz, Ron®
(C) wTFosd, Bredecdd 87y, BON RONT
T 0B ToRE DFER FOFND
(D) oow e e3eced

30. T[S W0 M AEE” SRR

(PMGSY) &5,003eoN 000
(A) 2004
(B) 2000
(C) 2005
(D) 1996

K-0313



26. Match the items of List — | with the items
of List — Il from the given code :

List| List Il
a) MRTP 1) Control of
foreign
exchange
b) FERA 2) Promotion of
industrial
peace
¢) Industrial Dispute 3) Control of
Act unfair trade
practices

d) Wealth Tax 4) Reducing the

concentration of
economic
power

Codes:
a) b) c) d)
(A) 1) 2) 3) 4)
(B) 3) 4) 2) 1)
(€) 2) 4) 1) 3)
(D) 3) 1) 2) 4)

27. Assertion (A) : Balance of payments
always balances.

Reason (R) : Balance of payments
refers only to the
visible imports and
exports.

Codes:

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

K-0313
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28. A Commercial Bank holds the following
types of assets. Identify the correct order
in terms of increasing liquidity.

1) Treasury bills
2) Loans and advances
3) Cash

4) Money at call and short notice

Codes :

(A) 3) 4 1) 2
(B) 4) 1) 3) 2
(C) 3) 2) 1) 4)
(D) 2) 4 L))

29. Recently, federal financial assistance to
states is given on the basis of

(A) Tax efforts of the states
(B) The revenue collection of the states

(C) Population, fiscal discipline, tax
efforts and special problems of the
states

(D) The demands of the state

30. Pradhan Mantri Gram Sadak Yojana
(PMGSY) was launched in

(A) 2004
(B) 2000
(C) 2005
(D) 1996
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31. Which of the following statement is true ?

(A) Bank rate policy is, are of the
qualitative methods of credit
control.

(B) Commercial Banks were
nationalised at first stage in 1969.

(C) RRB are not sponsored by
Commercial Bank.

(D) Commercial Banks were
nationalised in 1982.

32. R. Nurkse propounded the theory of
(A) Cumulative Causation
(B) Vicious Circle of Poverty
(C) Low Level Equilibrium Trap
(D) Balanced Growth

33. The propensity to consume of an
individual with respect to his
disposable income and wealth
depends on his age. This refers to

(A) Relative income hypothesis
(B) Permanent income hypothesis
(C) Life cycle hypothesis

(D) Absolute income hypothesis

34. ‘Backwash Effect’ was introduced by
(A) Musgrave
(B) Kindleberger
(C) Gunnor Myrdal
(D) Arther Lewis

K-0313
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List 1l
(Explanation)

35. List |
(Terms)

a) Fiscal deficit 1) Excess of total
expenditure
over total

receipts

Excess of
revenue
expenditure
over revenue
receipts

Excess of total
expenditure
over total
receipts less
borrowing

4) Excess of total
expenditure
over total
receipts less
borrowings and

b) Budget deficit 2)

c) Revenue deficit 3)

d) Primary deficit

interest
payments
Codes :
a) b) c) d)
(A) 3) 1) 2) 4)
(B) 4) 3) 2) 1)
(C) 1) 3) 2) 4)
(D) 3) 1) 4) 2)

36. An econometric model is
(A) An abstract model
(B) An exact model
(C) A mathematical model
(D) A stochastic model
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37.

38.

39.
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41.

42.

43.
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37. In classical theory of employment, what
ensures the perfect clearing of the labour
market ?

(A) Flexibility of wage rate

(B) Perfect competition in the product
market

(C) Flexibility of prices of commodity
(D) Flexibility of interest rate

38. ldentify the correct combination of the
following statement.

I) Laffer curve is related to Tax rate
and Tax revenue.

I) Phillips curve is related to
unemployment and Inflation.

lIll) Lorenze curve is related to foreign
exchange.

IV) Indifference curve is related to
production.

Codes :
(A) II)and Ill) are correct
(B) 1) and Il) are correct
(C) 1) and Il) are not correct
(D) ) and 1V) are correct

39. Identify the correct combination of the
following programme :

I) ‘Green Revolution’ is related to
modernisation of agriculture.

1) M-NAREGA is an unemployment
eradication programme.

[I) IRDP was a poverty eradication
programme.

IV) SGSY programme is related to
urban development.

Codes:
(A) 1), 1) and Ill) are correct
(B) 1) and IV) are correct
(C) 1), II) and Ill) are not correct
(D) 1), 1V)andlll) are correct
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40. Assertion (A) : A tariff imposition
leads to an increase in
the production of
import competing

goods.

Reason (R) : A Tariff imposition
benefits a country’s
scarce factor.

Codes:

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) istrue but (R) is false
(D) (A) is false but (R) is true

41. SEBI was set up in
(A) 1995
(B) 1996
(C) 1985
(D) 1992

42. MANVAT (Manufacturing Value Added
Tax) was recommended by

(A) Chelliah Committee
(B) L. K. Jha Committee
(C) Alexander Committee
(D) Bagchi Committee

43. AnlInsurance Regulatory and Development
Act (IRDA) was passed in Parliament in

(A) 1996
(B) 1999
(C) 1990
(D) 1994
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2p,q,
2p,q

C P =#X100

(C) Py, 40,

(D) Py, = P=% %100
02 0

K-0313



44. Growth process resulting into broad
based benefits and providing equal
opportunity to all is referred as

(A) Faster Growth

(B) Exclusive Growth
(C) Sustained Growth
)

(D) Inclusive Growth

45. Three consecutive years Indian economy
showed above 9% GDP growth

(A) 2000 ; 2001 ; 2002
(B) 2003 ; 2004 ; 2005
(C) 2005 ; 2006 ; 2007
(D) 2007 ; 2008 ; 2009

46. Characteristic feature of coefficient
correlation are

[) It ranges between -1 and +1
) It ranges between 0 and +1
[ll) It ranges between —1 and O
IV) The value of R? is always +ve

Select the right code from the following
as answer to the question :

Codes :
(A) 1) and IV) are correct
(B) II)and IIl) are correct
(C) 1) and 1V) are correct

(D) 1)andll) are correct
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47. Dispersion of a given distribution is
associated with

[) Geometric Mean
Il) Standard Deviation
[Il) Mean Deviation
IV) Arithmetic Mean
Select the correct code from the

following :

Codes :

(A) l)and IV) (B) 1)and IlI)
(C) Il)andlll) (D) Ill)and V)

48. When short -cut method is used, which
of the following formulas is applied to
calculate the Arithmetic Mean of grouped
data ?

(A) X=A+—xi
(B) X=d+_=xi
(C) X=A+Z=xi
(D) Y:A+Eﬁfxi

49. The formula for constructing index using
Laspeyres method is

() Py = 2% 100

OqO

(B) p,, = =Po% 100
2p,q,

(C) Py, =§p1q1x1oo

091

P20,
D) P,,=——"x%100
(D) Fo PoXdo
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50. $9NT BeIp3, FeeDH FOCIRT FReER)

TSR
=3, | Se3,~ I
1-BX(x - y)?
a) Qe 1) p=—( y)

n(n® —1)
b) @nTTRWEOI 2) y=a+bx

C) A® mowey  3) X="2

Sfd® (=fdY .
d) on&@s® 4 N _(W) Xi
BRCTEND :
a) b) c) d
(A) 3) 4 n 2
(B) n 2 3 4
(€) 49 3 2) 1)
(D) 2) 3 n o4

51. y=3w* —w2x + x%z — 78, =330, w it
ROLOPATOB Y oI 2088 Q[
(A) 12w — 2wx
(B) 3w® — wx
(©) 12w® — WPx + 2xz
(D) —wW? +2xz

52. LTYTeOS ﬂ&d@roﬁod}% 6§ TRTO

LVTO3RENRIT REWCTTED O3T0TYT0 ?
Q,-Q X

A = — B) —x100

*) Q; +Q, ®) GX
c o
=x100 =

©) ¢x 0 %
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50. Match the items in the following :
Listl List Il
1-6X(x - y)?

a) Mean 1) p= n(r® —1)

b) Standard 2) y=a+bx

deviation

c) Correlation 3) X:ZI\)I(

, st (=fd Y
d) Regression 4) N _(W) Xi
Codes :

a) b) C) d)
(A) 3) 4) 1) 2)
(B) 1) 2) 3) 4)

(C) 4) 3) 2) 1)
(D) 2) 3) ) 4

51. Ify = 3w*—w?x + x°z — Z3, then the partial
derivative of ‘y’ in respect of ‘W’ is

(A) 12w° — 2wx
(B) 3w® — wx
(©) 12w° — WX + 2xz

(D) —w? +2xz

52. The formula to calculate the coefficient
of variation is

Q,-Q X
A) =8 =1 B) Zx1
(A) Q.7Q, (B) i 00
(0 (¢
(€) % (D) 5

K-0313 (17)

53.

54.

55.

56.
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The characteristic features of a linear
programming technique

(A) An objective function
(B) A set of constraints
(C) Non-negativity restrict
(D) All the above

An Isoquant is proved to be convex to the
origin, when

d?K
—>0
(A) e
d?K
B) —<0
( ) dL2
d?K
©
(D) d2_K d2L 0
dL? dK?

Which of the following is non-parametric
test ?

(A) t-test

(B) Spearman’s co-efficient of
co-relation

(C) ANOVA

(D) F-test

To obtain a positive output in all sectors,
according to Hawkins-Simon, which of
the following conditions are to be fulfilled ?

1) a, < 1 foralli

) [I1-A|>0

My |[1-A|<0

IV) | 1- A" should exist
Codes :

(A) 1), 1), 1v) (B) 1), 1), 1
(C) 1), 1), V) (D) 11, 1), 1v)
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57. The most important source of Financing
the Gross Fiscal deficit of the
Government of India is

(A) Loans from the State Government
(B) Loans from the Financial Institutions
(C) Market borrowings

(D) Loans from the Provident Funds

58. Government of India introduced Foreign
Exchange Management Act (FEMA) in

(A) 1995
(B) 1990
(C) 1994
(D) 1999

59. The 73" and 74t Constitutional
Amendments relate to

(A) The functioning of Rural and
Urban local bodies

(B) The fiscal relation between Center
and State

(C) The Prudent fiscal management by
the State Governments

(D) The fiscal responsibility of the
Central Government

60. ldentify sources of agricultural credit in
India from the code given below.

1) Money Lenders
2) Regional Rural Bank
3) Commercial Banks

4) Small Industries Development Bank
of India

Codes :
(A) 2),3)and 4)
(B) 4),1)and 2)
(C) 1),2)and 3)
(D) 1),2),3)and 4)
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61. Buffer stocks of foodgrains in India are
held by

(A) State Trading Corporation

(B) The Food Corporation of India
(C) State Governments

(D) Ministry of Food and Civil Supply

62. Special Economic Zones Act was
passed by Parliament in

(A) 2000
(B) 2008
(C) 2005
(D) 1999

63. Which of the following Institutions are
operating in the money market ?

1) Central Bank

2) Discount and Finance House of
India

3) Stock Exchanges
4) Banks

Select the correct answer from the
given codes.

Codes:
(A) 1), 2)and 3)
(B) 1), 2) and 4)
(C) 1), 3)and 4)
(D) 1), 2), 3) and 4)

64. Low productivity in Indian agriculture is
attributed to

(A) Industrial development
(B) Financial market

(C) Low application of modern
technology

(D) Growing service sector
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65. Present Indian GDP growth rate is around
(A) 4% (B) 10%
(C) 13% (D) 6%

66. Productivity of Indian agriculture can be
enhanced by

1) Increased public investment
2) Increased irrigation facilities
3) Higher support price to the farmers

4) Shifting workers from industry to
agriculture

Select the correct answer from the
given codes :

Codes :

(A) 1), 2) and 4)

(B) 1), 2) and 3)

(C) 2), 3)and4)
(D) 3), 4)and 1)

67. Assertion (A) : GDP growth of India
recently declined as
compared to 2005- 07.

Reason (R) : Poverty is a major

problem of rural India.
Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

K-0313
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68. Human Development is concerned with
(A) Education
(B) Life Expectancy
(C) Per capita income

(D) All of these

69. NOVOD (National Oilseed and Vegetable

Oil Development) is situated at
(A) Indian Council of Agriculture
(B) Ministry of Rural Development
(C) Ministry of Environment

(D) Ministry of Agriculture

70. Amartya K. Sen was awarded Nobel Prize

for his contribution to

(A) Econometrics

(B) Monetary Economics
(C) Welfare Economics

(D) Environmental Economics

71. LM-curve represents equilibrium in
(A) Money Market
(B) Goods Market
(C) Goods and Money Market

(D) International Market
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72. According to Keynesian consumption
hypothesis, consumption depends on

(A) PermanentIncome
(B) Absolute Income
(C) Relative Income

(D) Wealth

73. The largest source of National Income in
India is
(A) Agriculture
(B) Trade Sector
(C) Service Sector

(D) Industrial Sector
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74. The Demand curves are positively
sloped for

(A) All Inferior Goods
(B) Normal Goods
(C) All Goods

(D) Giffen Goods

75. The ‘Critical Minimum Effort’ theory is

due to

(A) W. A. Lewis

(B) D. Recardo

(C) H. Leibenstein
(D) A. D. Hirschman
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